EARAROBEEIERT — 2 N— IBISH —F

2019597120 (°K) 7EI#E#4H

m%ﬁ@ﬂﬂ&:’(“’é@%ﬁ |8 C2=m #5%—## EEE R
[x&<£] 1%:1,100,000 @ ~ 23%&:385,000 337%&:22,000H ~ 43%&:165000 " ~ 53 :110,000 M
B ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N #1138 :37. ~5-4- . — NAARE (GEFN)
i Sl —k—1 o4 2 1(3_7)1 6-5-4-2 | 39.4 1 <5+057) %ﬁ\mgﬁ
Lxrvy¥/xEx BT —2 FRBE%S
250N 2378 3R . - KNS (iafF)
210 IAEFUILZ X Y I ° 5 | wrems
R:T7RIA Y L= BTy~ st IUFC T4
BTHEZ . —1-1- — 12K (Maig)
307l 9 Ly i 4 54_0L 1(.33/1.)2 1-1-1-1 | 39.9 2 ;1_765) o
:2kAYTUE—r BRI a—-=29 AFO%5
N [ilmpe27 : —6-6- — EAE (afs)
alzlg|mTNT 2 i 4 R 1.(378).6 3-6-6-7 | 40.1 4 &9) Fr
R:7UF—v B:N—-TxI LT B 77— L4
o AT :38. ~7-7- . — FIFIEHE (AT
5lgl11| H—Iv EHR—L S i ey | T T e
L:dr7—3UF7> B:LFsvwNnO ERSAI4ES
[N N S LS :38. -0 . - BH—RI (GEF)
6 3 E7 ATy = 4 4 A (/:\it;? 2-2-2-4 | 41.2 3 (4_813) e
R:hxexY BANLH—L RIS
S 4 5 | MEX 1:38.9 7-8-8-8 [39.9| — 9 457 | EEBE (GHF)
7155 7 —X 56.0 (11/2) (+4) SR Rt
L:Tv TRy v BivA4xLI—F e
. . BARE : —4-5- - FEIE—% (Efn)
sPlo| FaVIALH-F 4 1'(339)'5 MR R ° 3522) HLEANE
L:hzxex) BibAU exTX N E%5%
9 6| 7K UFa €5 giﬁfi;%i@ 1:(329).9 10-10-10-10{ 39.7 | — | 10 <5+171) ﬁééz ()
L:HVRwT 14wy B:T5—IK—1)— EFHS
o S i o4 | BREA 1:40.0 9-9-9-9 |39.8| — 7 468 | HEARIEA (AAN)
10l 4| XA PA=F 54.0 (172) o) | EEEA
L:A— K754~ B:bho¥FaT-—> R NROS
.= HFEBA - - — KEFESE (B
w11 | HTxaIHTT ok (i) " P e
L IZXRT—=WoF— B:HA4X3ILT1— TS
@ 1 — S —EBlIEf
13—7+— 9,3,8,10,2,7,5,11,4,6,1
2= = 9,3,10,2,7,8,11,5,4,6
30—7+— 9,3,10,7,2,8,11,5,4,6
43—F— 9,7,10,3,2,11,8,5,4,6
[ N3
BB 7 140 74K 7-10 190H & 6-8 430M & 7-9-10 700H
8 B 7 1004 7-9 180M P B 6-8 570M K31 7-10-9 2,410
10 1704 9-10 450/ B & 7-10 480
9 120 B H 7-10 610M

ABICOVWTRDTEEERROODE. TR LIV,




